
40

5

37

145

9046

22 14

137,16 ±0,13,9

2îòâ. 4

18
  -0

,1

R3 R3

À

23 20
1,5

52,52,5

42

2,581,5

71

14
4,
5

77 ±0,148 ±0,110 12ñêðóãëåíèé R3

ÁÁ

À

6îòâ.M2,5-7H

0,
5x

458 6

Á-Á (2 : 1)

Èçîìåòðèÿ (1:1)

* Ðàçìåðû äëÿ ñïðàâîê.1.
Íåóêàçàííûå ïðåäåëüíûå îòêëîíåíèÿ 2.

ðàçìåðîâ ïî H12, h12, ±IT12/2. 
Îñòðûå êðîìêè ïðèòóïèòü ôàñêîé 0,2õ45 .3.

Ra3,2

0.09

Ä16Ò ÃÎÑÒ 4784-97

1:1

Ëèñòîâ 1Ëèñò 1

ÌàñøòàáÌàññàËèò.

Óòâ.

Í. êîíòð.

Ïðîâ.

Ò. êîíòð.

Ðàçðàá.

ÄàòàÏîäï.¹ äîêóì.ËèñòÈçì.

Ñï
ðà

â. 
¹

 
Ïî

äï
. è

 ä
àò

à
Èí

â. 
¹

 ä
óá

ë.
Âç

àì
. è

íâ
. ¹

Ïî
äï

. è
 ä

àò
à

Èí
â. 

¹
 ï

îä
ë.

ÀÎ "Ïðîôîòåê"

Ôîðìàò À3Êîïèðîâàë

Áîåâ
Êîðïóñ

ÒÒÝÎ-3.03.21.00.001

ÒÒ
ÝÎ

-3
.0
3.2

1.0
0.
00

0

Ïå
ðâ

. ï
ðè

ìå
í.

Ìàñëåííèêîâ

Êðûëîâ

Ïàâëîâ

Ïîïîâ

ÒÒÝÎ-3.03.21.00.001


	Лист1
	Чертежный вид1
	Чертежный вид2
	Разрез Б-Б
	Чертежный вид4


